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ANSWER KEY AND GRADE DISTRIBUTION

. READING COMFPREHENSION & marks
A, Multiple choices 0.5 x 4 = 2 marks
1. b; 2. = 10 o 4. ©
B, Information transfaer 0.5 x 6 =3 marks

_Road crashes today

Causes Conseguences _ Suggested solutions
5 Speed = Pedestrians are - Bumps and traffic circles
often killed €. Speed limits / stationary enforcement /
hetfer road designing/education/public ...
7. alcohol - Higher crashrisks | & Alcohof concentration limits / media
campaigns
_ - Tough and swift penaltiss
9, Lack of - Higher crash rate - Sireet lighting
visibility 10, Daytirme running flights / reflectors on
vehicles /reflective clothing

C. Cloze test 0.5 x 2="1 mark
11. helmets [ (fastening) seat-balts

D. True or false statements + justifications 1 x2=2 marks

12. True: "If current trends continue, the number of people killed and injured on the
warld's roads will rise by more than 60 % between 2000 and 2020."

13. False: "According to the WHO, inlerventions should be focused specifically on five of
the many factors that cause road traffic deaths and injuriss."

Il.  LINGUISTIC AND COMMUNICATIVE COMPETENCE 6 marks
E. Dialogue completion 0.5 x5 =2.5 marks
14. ... our roads aren't goad at all {or any other meaningful and correci sentence)
15 will

16. what are the causes of road accidents? (or any other meaningful question)
17, any meaningful question will da,

18.would be considerably reduced (or any other meaningful and grammatically
correct sentence)

F. Word formation 0.5 x4 =2 marks
19. poverty 20,  survivors 21, disahility 22. financial
G. Verb tenses and forms 0.5x3=1.5marks
23, is spreading 24 die 25. have been killed
. WRITING 6 marks
Ceherence and cohesion; 2 marks Readability; 1.5 marks
Accuracy: 1.5 marks Originality: 1 mark

(For the formal letter, please take info account the layout)




